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NB: 1) Question no. one is com.pulsory, It carries 15 marks. :
2) Attempt any five questions from the remaining. It carries 9 marks.

3) The English version of the paper is correct version.
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1 (a) Summarize the scenario of TV industry in India and role of Doordarshan as
a public broadcaster.
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: ;l/{b) Which communication skills have to be developed by the media
person/correspondent/reporter?
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M you think Media can play vital role'in making opinion of the society on any
particular social issues. Explain
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3. What is the Sting Operation? Does it seem ethical?
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t4—Explain any four hasic components of classical narrative structure.
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{i—low‘ ltelevision series differs from television serials in terms of narrative -

structure. Explain it in the context of Indian television.
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\ b~ What is transmedia story telling? Explain it with suitable examples.

5 Dialogue, lighting and videography ,action : how these factors help to build the
+ character, explain this with suitable examples.
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8. Who is star and what is star system?
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9. Explain the term “Intertextuality” in the context of Indian television.
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10. Divergence of programming and technology has been maiched by convergence
of media corporations-explain this with example of Timss of India group.
I you are assigned to do live coverage of ‘Garesh Visarjan’ at Girgaon beach
in Mumbai, then what are the camera moveizents you will plan for an event?
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